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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 120 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

Illustration:

1. Thesumof20and 12 is

(@ 32 (b)38(c)31(d) 34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

| @CXO()

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.
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Aaditya can make 50 cakes in 25hours,
Aaditya and Arnav together can make 75
cakes in 15 hours.How many cakes Arnav can
make in 15 hours ?

a. 25
b. 45
c. 20
d. 10

If 7 spiders make 7 webs in 7days, then 1
spider will make 1web in how many days?

a. 1
b. 7/2
c. 7

d. 49

Which of the set of three sides can't form a
triangle?

a. Scm,6cm,7cm

b. 5cm,8cm, 15¢cm

c. 8cm,15cm, 18 cm

d. 6cm,7cm, 11 cm

A point P lying inside a triangle is equidistant
from the vertices of the triangle. Then the
triangle has Pas its:

a. Centroid

b. Incentre

c. Orthocentre
d. Circumcentre

If angles of measure (5y + 62°) and (22° + )
are supplementary, then value ofy is::

a. 16°
b. 32°
c. 8°
d. 1°



Q.61

Q.62

Q.63

Q.64

Q.65

Q.66

Which of the following language is regular?
L = {anbn|n>=1}

L = {anbmcndm|n,m>=1}

L = {anbm|n,m>=1}

L = {anbmcn|n,m>=1}

Dialog control and Token management is
associated with which layer of the OSI
Model.

Session layer
Presentation layer
Physical layer

Transport layer

A tree with n nodes has how may edges
n+1 edges

n-1 edges

n edges

n/2 edges

The idempotentlaw in Boolean algebra says
that.

X+X=X
X+Xy=X
X(x+y)=x
x+1=1

A function call mechanism that passes
arguments to a function by passing a copy of
the values ofthe argumentsis:

call by name
call by value
call by reference

call by address

Generalizationis ______process
Top-down
bottom-up
Functional

Polymorphism
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Q.67

Q.68

Q.69

Q.70

Q.71

A function that has no partial functional Q.67
dependencies arein______form.
3 NF a)
2 NF b)
4 NF )
BCNF d)
RAID stands for? Q.68
Random Access Internal Disks &
Rapid Application Interface Design b)
Redundant Arrays of Independent Disks 2
Redundant Arrays of Individual Disks d)
A hash function h is defined as h(i) =iz Q.69
mod 8
Find the value of h(8) and h(18).
0,4 )
0,2 b)
1,4 ‘)
1,2 d)
A set of FD's is given for a relation Q.70
R(A,B,C,D,EFEG)
{A->B, BC->DE, AEF->G}
What is the closure of {A, C} +under this
set? a)
AB,C b)
AB,C,.D )
AB,CD,EF d)
A,B,C,D,E
The postfix for a string is ABC+ - D*, the Q71
actual string will be.
(A-(B+C))*D 2)
((A-B)+C)*D b)
((A+B)-C)*D ‘)
d)

(A+(B-C))*D
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Q.72

a)
b)

<)
d)

Q.73

Q.74

Q.75

Q.76

Q.77

The complexity of binary search algorithm Q.72

is. a)
O(n) b)
O(logn) Q)
0(n2) )
O(nlogn)

[P address in class B is given by Q.73
125.123.123.2 a)
191.23.21.54 b)
192.128.32.56 c)
10.14.12.34 d)
Public key encryption makes use of Q.74
One key

Two keys

Hash function

Three keys

Which protocol uses distance vector Q.75

routing?

OSPF 2)
BGP b)
RIP c)
PPP d)

Context-free grammars is known as

FeT BH IPUAT fpgd gRT fear o 82
125.123.123.2
191.23.21.54

192.128.32.56

10.14.12.34
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Q.76 W Had @GRV Bl & ¥U H SH Sl &

type 1 a) TR 1

type 3 b) TRU 3

type 2 c) ClkU 2

type 0 d) CrRY 0

Which of the following is/are shared by all Q77 figfafed & ¥ &F e uftkar & Wt DI
the threads in a process? SRT e fear S §/8?

Program counter a) U H¥eR

Stack b) W&

Address space c) Udl ¥

Registers d) RoTeR
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Q.78

Q.79

Q.80

Q.81

Q.82

The essential content(s) in each entry of a
page table is/are

Virtual page number
Page frame number
Process id

Access right information

If a graph requires K different colors for its
proper coloring, then the chromatic

number ofthe graphis
1

K

K-1

K/2

The two's complement of binary number
11001is

00111
00110
11000
11001

In which addressing mode the operand is
included in the instruction format

Indirect Addressing
Direct Addressing
Immediate Addressing

Indexed Addressing

Thelength ofanIPv6 addressis___ bitslong:
32

64

128

Variable
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Q.83

b)
c)

d)

Q.84

Q.85

Q.86

Q.87

Which of the following techniques is NOT a
White Box technique?

Control Flow Testing
Data Flow Testing
Path Testing

Boundary Value Analysis

The principal of locality of reference
justifies the use of

cache memory
virtual memory
secondary memory

ROM

Round Robin scheduling is essentially the
pre-emptive version of .

FIFO
Shortest job first
LRU
LIFO

Which commands are used to control
access over objectsinrelational database?

GRANT & REVOKE
INSERT

SELECT

UPDATE

Which operation is used to extract specific
columns from a table?

Join
Select
Project

Extract
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Q.88

Q.89

Q.90

Q.91

Q.92

Q.93

In a compiler, keywords of a language are
recognized during .

parsing of the program
assembling of the program
the lexical analysis of the program

linking of the program

Which of the following is a Top-Down
Parser?

Recursive Descent
CLR

SLR

LALR

Selection sortalgorithm design techniqueis
an example of .

Dynamic Programming
Greedy method
Backtracking

Matrix Multiplication

Which of the following is correct with
respectto Two phase commit protocol?

Ensures Serializability
Prevents deadlock
Detects deadlock

Recover from deadlock

An agent in Al can improve its
performance by

Learning
Responding
Observing

Perceiving

Hopfield networks are a type of____
Fuzzy Logic

Artificial Neural Network

Deep Learning

Gigabit network

Q.88

a)
b)
c)
d)

Q.89

Q.90

Q.91

Q.92

Q.93
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Q.94

a)
b)
‘)
d)

Q.95

Q.96

Q97

Q.98

a)
b)
)
d)

The expression P R represents
~PVR

P~R

~RVP

~PVR

The maximum number of edges in a
bipartite graph on 12 verticesis.

38
36
48
37

Which one of the following Boolean
expressions is NOT a tautology?
((@ab) A(bc)) (ac)

(a<->c) (~b (anc))

(anbAc) (cva)

a(ba)

The correct formula for the sentence,

"not all summer days are hot" is
Vd(summer(d)A ~ hot(d))
Vd(~summer(d) — hot(d))
3d(~summer(d) — hot(d))

3d (summer(d) A ~hot(d))

What is the logical translation of the
following statement?

“None of my friends are perfect”
Ix (F(x) A ~P(x))

Ix (~F(x) A P(x))

Ix (~F(x) A ~P(x))

~3x (F(x) A P(x))
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Q.95

Q.96
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( (a=>b) A(b—>c)) = (a—>c¢)

(a<->c) = (~b—> (aAc))

(aAbAc) = (cva)
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Q.99 Consider the following well-formed Q99 fmfafea ARG PN W faaR »:

formulae: I ~vx (W (T )
. ~Vx P(x) . ~3 (@ (W)
. ~3(P(x) . ~3 (@ (TR )
L. ~3(~P(x)) V. x(~(f (T) )
IV. 3x(~(P(x)) SWRIed § ¥ &9 I 8°
Which of the above are equivalent? ) tand
a) landIIl b) randIv
b) IandIV c) llandlll
c) IlandIIl d) lland IV
d) IMandIV

Q.100 An undirected graph possesses an Eulerian Q.100 TH Uy Wh o UGQRT Wfdhe g §

circuit if and only if it is connected and its Ife 3R Had R Ig ST g3 § SR ITPb
vertices are. R ¢
a) all of odd degree a) gt fawg feit
b) all of even degree b) Tt TuE &t
c) ofanydegree o) fedt off oot &
d) oddand even in number d) vy ok g9 & o
Q.101 Which one of the following sentences is Q101 fgfafed & ¥ »H I a9 II 8?2
true? a) WSl R & RUARAI $7 4 HH T
a) The body of a while loop is executed at R frwfed fear smar §
least once b) S-9=d qU B! S B FH I FH &
b) The body of a do-while loop is executed at IR feofed fear mar
least once .
. o ¢) 9139 YU BHAN URMG AM 0 F Y&
c) While loop always starts with initial value At 2
0
d) Do-while loop always starts with initial d) |-IIRT I EHIM A e 71 0
value 0 BT B
Q.102 Ifafair coinis tossed four times. What is the Q102 3t ue fwy Rygd # IR IR ISTe Il
probability that two heads and two tails will g1 3 f9d 8k <1 Uc 3 B T Wedl g2
result? a) 3/8
a) 3/8 b) 1/2
b) 172 ) 5/8
c) 5/8 d) 3/4
d) 3/4

27



Q.103

Q.104

Q.105

Q.106

Q.107

The worst case running times of Insertion
sort, Merge Sort and Quick Sort respectively
are.

0O(nz2), O(n log n) and O(nz)
0(n2), O(n2) and O(n log n)
O(nlogn),0(n logn) and O(n2)
O(n), O(nlogn) and O(n log n)

The algorithm is an algorithm
for finding shortest paths in a weighted
graph with positive or negative edge
weights but with no negative cycles.

Quicksort
Radix Sort
Kruskul
Floyd-Warshall

Which algorithm always select minimum
distance between two of its sets using
greedy method

Mergesort
Bubble sort
Prim's

Spanning trees

The time complexity of Topological Sorting
algorithm is

0(n3)
O(n+m)
O(m logn)
O(nm)

A textis made up of the characters A,B,C,D,E
each occurring with the probability
0.08,0.40,0.25,0.15 and 0.12 respectively.
The optimal coding technique will have the
average length of.

2.4
1.87
3.0
2.15
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a)
b)
<)
d)

Q.104

Q.105

Q.106

Q.107

a)
b)
c)
d)

e 9, aof 9id iR e Wi &1 wew
W H I <A B §

0(n?), O(nlogn) 3R 0o(n?)

0(n2), O(n?) 3R 0(n log n)

0 (n'logn),0(n log n) 3R 0O(n?%)

0Omn),0 (nlogn)aﬁT O (nlogn)
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Q.108

Q.109

Q.110

Q111

Q112

Match the following with respect to
algorithm paradigms a) Kruskal i) Divide
and conquer b) Quicksort ii) Greedy c)
Floyd-Warshalliii) Dynamic Programming

a)-ii), b)-i), ¢)-iii)
a)-iii),b)-ii),c)-i)
a)-i),b)-iii),c)-ii)
a)-i),b)-ii),c)-iii)

The preorder traversal sequence of a binary

search tree is 30,20,10,15,25,23,39,35,42.
Which one of the following is the postorder
traversal

sequence of the same tree?
10,20,15,23,25,35,42,39,30
20,10,15,23,25,35,42,39,30
15,10,23,25,20,35,42,39,30
15,10,20,23,25,30,35,39,42

Which of the following algorithms use
recursion for sorting an array of integers?

Bubblesort and Insertion sort
Bubblesort and Quicksort
Bubblesort and Mergesort

Quicksort and Mergesort

Travelling Salesman problem belongs to

category of problems?

Satisfiable
Non Solvable
Decision

Optimization

Which of the following is not a UML
Diagram?

Use case
Class Diagram
Analysis Diagram

Deployment Diagram

Q.108 TENRYH Ul l & ddy # Fafafead &1

i S
a) BB ) e STel SR Sfid
b) f@®HHE i) erer
TArsS-arefd iii) SAAfE  TmfET
a) i), & -i), ) -iii)
b) iii), &) i), &) -i)
o) i), 8 -iii), &) ii)
d) i),dh -ii), &) -iii)

Q109 T T < @1 WS Sadd HH

30,20,10,15,25,23,39,35,42 ¢! Fofafaa & 9
HH-T TF ¢ U8 BT URe3iSR Tadid Sfgehd
8?

a) 10,20,15,23,25,35,42,39,30

b) 20,10,15,23,25,35,42,39,30

) 15,10,23,25,20,35,42,39,30

d) 15,10,20,23,25,30,35,39,42

Q110 fpfafed & ¥ &H W1 TeRed quiel &t

Th WOt B IiE A & o RedT &1
JUGNT IRl §?

a) S9AEic 3R TURM Wie

b) FeaEiC SR fBopdic

¢) SeAEIC 3R HoHre

) Beard iR #sEré

Q111 Zafeh Y &t T 9ol &

e ¥ WeEfid g2
a) IdrSoH®

b) TR Wiedsd

c) faofg

d) Srigad

Q112 fufafed & ¥ & W guAud k@ el

82
a) &Y B TR B
b) dean R
c) fazaivur o
d) oRfeE smE



Q113 ____ is a testing technique which Q113 TP G0 dhid & off fopdd)
evaluates the code and the internal T & B8 3R SHdR®d Wa-T &1 el
structure of a program ? IR §

a) White box testing a) e dl Tigor
b) Black box testing b) &% dIT TRAEU
c) Alpha testing c) 3MhT TIl&ur
d) Recovery testing d) Repadt e

Q.114 CMM methodology which is used to develop Q.114 HUATH Ugfd foraer IuwanT fasft Smea &t

and refine an organization's software e faer ufhar & faslE ik UR&pd
development process stands for P 1%’]? foar Sran %,W 3 %

a) Capability Maturity Model a) &ual uRuedl Hisd

b) Capable Maturity Model b) gem uRuear Afsa

c) Capability Maturity Manual ¢) &udr uRuedr Faamar

d) Capability Managed Model d) &mdr wefdd Afsd

Q115 In Software Maintenance,___maintenance Q.115 IR IEREE o g

modifies the system to cope with changes in TFedqR IRy § TRadT ¥ ey ¥ R
the software environment Ry @) IRT BT B

a) Perfective a) uRygof

b) Corrective b) FYRTHSD

c) Preventive ¢) faR®

d) Adaptive d) Sfgpat

Q.116 Context free languages are closed under Q.116 Taf Hod a.rrqr‘q’ fege Siqifa d¢ 2
a) Union, intersection a) Y, IRIET
b) Union, Kleene closure b) IY, o TR
c) Intersection ,complement ¢) IR, b
d) Complement, Kleene closure d) WP, T TSR

Q.117 A given grammar is called ambiguous if Q.117 f3U U AU &I WYY Hel oidl ¢ g

a) Two or more production have the same a) oA QY SHfYe Iared H EITSc @TW
non-terminal on the lefthand side g R-cfifFa §

b) A derivation tree has more than one b) Hdfl & d Udh ¥ ot dug aw
associated sentence _E?Ia %

c) There is a sentence with more than one <) & ai ¢ ot ¥ oiftie gafy
derivation tree corresponding to it ger € o 3UF SFU §

d) Expressions contains the non-terminal and d) siftreafaaal & TR-cfifqa ok cfifqa
terminal symbols Udle Bd ©
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Q118

Q.119

Q.120

A stack organised computer is
characterised by instructions with
addressing

Indirect addressing
Direct addressing
Zero addressing

Index addressing

A magnetic disk has 100 cylinders, each
with 10 tracks of 10 sector. If each sector
contains 128 bytes, what is the maximum
capacity of the diskin kilobytes?

1280
1250
1024
128000

Which of the following in C++,is inherited
in a derived class from base class

Constructor
Destructor
Data members

Virtual methods
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Q118 UH W& Tféd Huex &I A @

faiwar gt @

a) Iy AT

b) SRREE TSR

) SRT TSR

d) I3 TSR

Q119 & e & & 100 Ridex g4 %,
59 ¥ vl # 10 Y9I F 10 B B B
e UdF YaeR H 128 d8cy g, d 5% @t
ifyban &mdr fhalese o @ B2
a) 1280

b) 1250
c) 1024
d) 128000

Q120 Cc++ ¥ Fufafed & & & 1, 99 a9 3
e o § foRmad # fren @
a) HEER
b) fa-=Ie
) Scl Y
d) YR &%
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